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1)  

2)  

3)  

TSPSCPCBGroup302

Topic:­ Steno Typist Jr Assistant Paper2

Find the next number in the series 5, 11, 21, 43, 85, __ /

[Question ID = 10919]

1. 169 [Option ID = 13670]
2. 171 [Option ID = 13671]
3. 172 [Option ID = 13672]
4. 168 [Option ID = 13673]

Correct Answer :­
171 [Option ID = 13671]

Which term of the series 7, 10, 13, 16, 19, ..... is 151 /

[Question ID = 10920]

1. 48th /   [Option ID = 13674]

2. 47th /   [Option ID = 13675]

3. 50th /   [Option ID = 13676]

4. 49th /   [Option ID = 13677]

Correct Answer :­

49th /   [Option ID = 13677]

What is the next term in the series BEI, DGK, FIM,_____? /

[Question ID = 10921]

1. LOS [Option ID = 13678]
2. HKN [Option ID = 13679]
3. HKO [Option ID = 13680]
4. LOR [Option ID = 13681]
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4)  

5)  

6)  

Correct Answer :­
HKO [Option ID = 13680]

In the given four options, three are related in some way, find the odd man out . /

[Question ID = 10922]

1. Telangana /   [Option ID = 13682]

2. Karnataka /   [Option ID = 13683]

3. Chennai /   [Option ID = 13684]

4. Kerala /   [Option ID = 13685]

Correct Answer :­

Chennai /   [Option ID = 13684]

In the given four options, three are related in some way, find the odd man out . /

[Question ID = 10923]

1. Pigeon /   [Option ID = 13686]

2. Parrot /   [Option ID = 13687]

3. Crow /   [Option ID = 13688]

4. Bird /   [Option ID = 13689]

Correct Answer :­

Bird /   [Option ID = 13689]

In the given four options, three are related in some way, find the odd man out . /

[Question ID = 10924]

1. 15 [Option ID = 13690]
2. 23 [Option ID = 13691]
3. 17 [Option ID = 13692]
4. 29 [Option ID = 13693]

Correct Answer :­



5/17/2017 103.13.99.97/gamechanger/Reports/PapersetQuestion/PapersetQuestions

http://103.13.99.97/gamechanger/Reports/PapersetQuestion/PapersetQuestions 3/72

7)  

8)  

9)  

15 [Option ID = 13690]

In the following Question, there is a certain relationship between first two words. Find the
fourth word which is related to the third word with a similar relationship. Export : Import : : Income
: ? /

[Question ID = 10925]

1. Loan /  [Option ID = 13694]

2. Deficit /  [Option ID = 13695]

3. Profit /  [Option ID = 13696]

4. Expenditure /  [Option ID = 13697]

Correct Answer :­

Expenditure /  [Option ID = 13697]

In the following Question, there is a certain relationship between first two words. Find the
fourth word which is related to the third word with a similar relationship. WATCH : CHTAW :: PLATE
: ? /

[Question ID = 10926]

1. TEAPL [Option ID = 13698]
2. TEPAL [Option ID = 13699]
3. TELPA [Option ID = 13700]
4. TEALP [Option ID = 13701]

Correct Answer :­
TEALP [Option ID = 13701]

In the following Question, there is a certain relationship between first two words. Find the
fourth word which is related to the third word with a similar relationship. Walking : Legs :: Thinking
: ? /

[Question ID = 10927]
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10)  

11)  

12)  

1. Head /  [Option ID = 13702]

2. Brain /  [Option ID = 13703]

3. Heart /  [Option ID = 13704]

4. Ears /  [Option ID = 13705]

Correct Answer :­

Brain /  [Option ID = 13703]

In a code ‘BOLD’ is written as 3492 and ‘FINE’ is written as 5716, then how is ‘FILED’ coded? /

[Question ID = 10928]

1. 57962 [Option ID = 13706]
2. 57692 [Option ID = 13707]
3. 57926 [Option ID = 13708]
4. 57269 [Option ID = 13709]

Correct Answer :­
57962 [Option ID = 13706]

If ’White’ is called ‘red’, ‘red’ is called ‘blue’, ‘blue’ is called ‘green’ and ‘green’ is called
‘yellow’, then what is the colour of sky? /

[Question ID = 10929]

1. Red /   [Option ID = 13710]

2. Green /   [Option ID = 13711]

3. Yellow /   [Option ID = 13712]

4. Blue /   [Option ID = 13713]

Correct Answer :­

Green /   [Option ID = 13711]

In a certain code ‘ya mi te’ means ‘do regular exercise’, ‘ya no ka' means 'exercise gives
health' and 'bu ka di' means 'health is wealth', then what is the code for health? /
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13)  

14)  

15)  

[Question ID = 10930]

1. ya [Option ID = 13714]
2. te [Option ID = 13715]
3. di [Option ID = 13716]
4. ka [Option ID = 13717]

Correct Answer :­
ka [Option ID = 13717]

Pointing to a man Mr. Prasad said that 'he is the grand father of my daughter'. How is the
man’s wife is related to the Prasad? /

[Question ID = 10931]

1. Sister /   [Option ID = 13718]

2. Mother /   [Option ID = 13719]

3. Sister­in­law /   [Option ID = 13720]

4. Daughter­in­law /   [Option ID = 13721]

Correct Answer :­

Mother /   [Option ID = 13719]

Shravya is the sister of Priyanka whose father is Prabhu. Manish is the son of Rama who is the
sister of Prabhu. How is Shravya related to Manish? /

[Question ID = 10932]

1. Cousin /   [Option ID = 13722]

2. Sister /   [Option ID = 13723]

3. Sister­in­law /   [Option ID = 13724]

4. Mother /   [Option ID = 13725]

Correct Answer :­

Cousin /   [Option ID = 13722]

If A+B means A is the wife of B, B­C means C is the father of B, how ‘R’ is related to ‘Q’ in
R+P­Q? /
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16)  

17)  

[Question ID = 10933]

1. Daughter /   [Option ID = 13726]

2. Father /   [Option ID = 13727]

3. Daughter­in­Law /   [Option ID = 13728]

4. Father­in­Law /   [Option ID = 13729]

Correct Answer :­

Daughter­in­Law /   [Option ID = 13728]

/

[Question ID = 10934]

1. South /  [Option ID = 13730]

2. South­West /  [Option ID = 13731]

3. South­East /  [Option ID = 13732]

4. West /  [Option ID = 13733]

Correct Answer :­

South­West /  [Option ID = 13731]

A man facing south walks for 4km, from there he turns to his left and walks for another 3km.
How far is he now from his starting point? /

[Question ID = 10935]

1. 8 km [Option ID = 13734]
2. 7 km [Option ID = 13735]
3. 5 km [Option ID = 13736]
4. 4 km [Option ID = 13737]

Correct Answer :­
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18)  

19)  

20)  

5 km [Option ID = 13736]

There are four villages A,B, C and D. B is on the south­east of A, C is on the north of B and
north­east of A. D is on the west of B in straight line with C and A. In which direction of A, D is
located? /

[Question ID = 10936]

1. South­West /  [Option ID = 13738]

2. South /  [Option ID = 13739]

3. West /  [Option ID = 13740]

4. North­East /  [Option ID = 13741]

Correct Answer :­

South­West /  [Option ID = 13738]

How many 7s are there in the following number sequence which are immediately preceded by
an even number? 6 4 5 7 3 2 7 1 8 9 7 3 4 7 8 2 6 7 5 8 7 2 9 7 /

[Question ID = 10937]

1. Two /  [Option ID = 13742]

2. Three /  [Option ID = 13743]

3. Four /  [Option ID = 13744]

4. Seven /  [Option ID = 13745]

Correct Answer :­

Four /  [Option ID = 13744]

In a class of girls Rama is 8th from top and Padma is 8th from bottom. If they interchange their
position, Rama will become 18th from top. How many girls are there in the class? /
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21)  

22)  

23)  

[Question ID = 10938]

1. 26 [Option ID = 13746]
2. 24 [Option ID = 13747]
3. 27 [Option ID = 13748]
4. 25 [Option ID = 13749]

Correct Answer :­
25 [Option ID = 13749]

Murali remembers that his colleagues Santhosh’s birthday falls after 17 October but before
25th October, whereas Sreenu remembers that Santhosh’s birthday falls before 19th October but
after 10th October. On which date Santhosh celebrates his birthday? /

[Question ID = 10939]

1. 19th October /  [Option ID = 13750]

2. 17th October /  [Option ID = 13751]

3. 18th October /  [Option ID = 13752]

4. Data inadequate /  [Option ID = 13753]

Correct Answer :­

18th October /  [Option ID = 13752]

If ‘+’ means 'x', ‘­‘ means '/', ‘x’ means '+' and ‘/’ means '­' , then find the value of the
expression 36­6+2x8­2/3 /

[Question ID = 10940]

1. 15 [Option ID = 13754]
2. 16 [Option ID = 13755]
3. 12 [Option ID = 13756]
4. 13 [Option ID = 13757]

Correct Answer :­
13 [Option ID = 13757]

Which of the following equation is correct, if the signs ‘+ and x’ & ‘4 and 5‘ are interchanged /
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24)  

25)  

26)  

[Question ID = 10941]

1. 5 x 4 + 20 = 40 [Option ID = 13758]
2. 5 x 4 + 20 = 85 [Option ID = 13759]
3. 5 x 4 + 20 = 104 [Option ID = 13760]
4. 5 x 4 + 20 = 95 [Option ID = 13761]

Correct Answer :­
5 x 4 + 20 = 104 [Option ID = 13760]

If P means '+', Q means '­', R means 'x' and S means '/', then which of the following is correct?
/

[Question ID = 10942]

1. 3R4S2P5Q3 = 8 [Option ID = 13762]
2. 4P3Q6S2R4 = 2 [Option ID = 13763]
3. 6Q4P5R3S7 = 3 [Option ID = 13764]
4. 5P3S4Q6R3 = ­12 [Option ID = 13765]

Correct Answer :­
3R4S2P5Q3 = 8 [Option ID = 13762]

Six friends A,B,C,D,E and F are sitting around a round table facing centre. A is sitting to the left
of D and is on the opposite to F. E is not a neighbour to F but is on the opposite to C. Who is on the
opposite to D /

[Question ID = 10943]

1. E [Option ID = 13766]
2. B [Option ID = 13767]
3. C [Option ID = 13768]
4. F [Option ID = 13769]

Correct Answer :­
B [Option ID = 13767]

Ravi scored more marks in chemistry than physics but not more than maths, he scored less
marks in english than physics but not less than telugu. In which subject ravi scored 2nd highest
marks? /
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27)  

28)  

29)  

 [Question ID = 10944]

1. Physics /   [Option ID = 13770]

2. Maths /   [Option ID = 13771]

3. Chemistry /   [Option ID = 13772]

4. English /   [Option ID = 13773]

Correct Answer :­

Chemistry /   [Option ID = 13772]

Arrange the words given in Alphabetical order as in dictionary and give the sequence a)
tumbler b) tabular c) tortoise d) torture e) tablet /

[Question ID = 10945]

1. ebcda [Option ID = 13774]
2. becda [Option ID = 13775]
3. adcbe [Option ID = 13776]
4. ebadc [Option ID = 13777]

Correct Answer :­
ebcda [Option ID = 13774]

Find the word that cannot be formed with the letters of the word “TABULATION” /

[Question ID = 10946]

1. LOTION [Option ID = 13778]
2. TUITION [Option ID = 13779]
3. TABLE [Option ID = 13780]
4. NOTIONAL [Option ID = 13781]

Correct Answer :­
TABLE [Option ID = 13780]

There are 8 teams playing in IPL tournament. If each team has to play twice with another team,
how many matches we can see including two qualifier matches, one eliminator match and the final
match? /
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30)  

31)  

[Question ID = 10947]

1. 56 [Option ID = 13782]
2. 60 [Option ID = 13783]
3. 64 [Option ID = 13784]
4. 32 [Option ID = 13785]

Correct Answer :­
60 [Option ID = 13783]

Find the number in the place of ‘?’ mark. /

[Question ID = 10948]

1. 50 [Option ID = 13786]
2. 52 [Option ID = 13787]
3. 60 [Option ID = 13788]
4. 81 [Option ID = 13789]

Correct Answer :­
52 [Option ID = 13787]

Select a figure from amongst the Answer Figures which will continue the same series as
established by the problem figure /
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32)  

33)  

[Question ID = 10949]

1. 1 [Option ID = 13790]
2. 2 [Option ID = 13791]
3. 3 [Option ID = 13792]
4. 4 [Option ID = 13793]

Correct Answer :­
3 [Option ID = 13792]

Select a figure from amongst the Answer Figures which will continue the same series as
established by the problem figure /

[Question ID = 10950]

1. 1 [Option ID = 13794]
2. 2 [Option ID = 13795]
3. 3 [Option ID = 13796]
4. 4 [Option ID = 13797]

Correct Answer :­
4 [Option ID = 13797]

Select a figure from amongst the Answer Figures which will continue the same series as
established by the problem figure /

[Question ID = 10951]

1. 1 [Option ID = 13798]
2. 2 [Option ID = 13799]
3. 3 [Option ID = 13800]
4. 4 [Option ID = 13801]
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34)  

35)  

36)  

Correct Answer :­
3 [Option ID = 13800]

Select a figure from amongst the Answer Figures which will continue the same series as
established by the problem figure

[Question ID = 10952]

1. 1 [Option ID = 13802]
2. 2 [Option ID = 13803]
3. 3 [Option ID = 13804]
4. 4 [Option ID = 13805]

Correct Answer :­
4 [Option ID = 13805]

Select a figure from amongst the Answer Figures which will continue the same series as
established by the problem figure /

[Question ID = 10953]

1. 1 [Option ID = 13806]
2. 2 [Option ID = 13807]
3. 3 [Option ID = 13808]
4. 4 [Option ID = 13809]

Correct Answer :­
4 [Option ID = 13809]

Select a suitable figure from the Answer Figures that would replace the question mark (?) /
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37)  

38)  

[Question ID = 10954]

1. 1 [Option ID = 13810]
2. 2 [Option ID = 13811]
3. 3 [Option ID = 13812]
4. 4 [Option ID = 13813]

Correct Answer :­
1 [Option ID = 13810]

Select a suitable figure from the Answer Figures that would replace the question mark (?) /

[Question ID = 10955]

1. 1 [Option ID = 13814]
2. 2 [Option ID = 13815]
3. 3 [Option ID = 13816]
4. 4 [Option ID = 13817]

Correct Answer :­
4 [Option ID = 13817]

Select a suitable figure from the Answer Figures that would replace the question mark (?) /
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39)  

40)  

[Question ID = 10956]

1. 1 [Option ID = 13818]
2. 2 [Option ID = 13819]
3. 3 [Option ID = 13820]
4. 4 [Option ID = 13821]

Correct Answer :­
1 [Option ID = 13818]

Select a suitable figure from the Answer Figures that would replace the question mark (?)/

[Question ID = 10957]

1. 1 [Option ID = 13822]
2. 2 [Option ID = 13823]
3. 3 [Option ID = 13824]
4. 4 [Option ID = 13825]

Correct Answer :­
2 [Option ID = 13823]

Select a suitable figure from the Answer Figures that would replace the question mark (?) /



5/17/2017 103.13.99.97/gamechanger/Reports/PapersetQuestion/PapersetQuestions

http://103.13.99.97/gamechanger/Reports/PapersetQuestion/PapersetQuestions 16/72

41)  

42)  

43)  

[Question ID = 10958]

1. 1 [Option ID = 13826]
2. 2 [Option ID = 13827]
3. 3 [Option ID = 13828]
4. 4 [Option ID = 13829]

Correct Answer :­
4 [Option ID = 13829]

Select a suitable figure from the Answer Figures that would replace the question mark (?) /

[Question ID = 10959]

1. 1 [Option ID = 13830]
2. 2 [Option ID = 13831]
3. 3 [Option ID = 13832]
4. 4 [Option ID = 13833]

Correct Answer :­
2 [Option ID = 13831]

Select a suitable figure from the Answer Figures that would replace the question mark (?) /

[Question ID = 10960]

1. 1 [Option ID = 13834]
2. 2 [Option ID = 13835]
3. 3 [Option ID = 13836]
4. 4 [Option ID = 13837]

Correct Answer :­
4 [Option ID = 13837]

Select a suitable figure from the Answer Figures that would replace the question mark (?) /
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44)  

45)  

[Question ID = 10961]

1. 1 [Option ID = 13838]
2. 2 [Option ID = 13839]
3. 3 [Option ID = 13840]
4. 4 [Option ID = 13841]

Correct Answer :­
2 [Option ID = 13839]

Select a suitable figure from the Answer Figures that would replace the question mark (?) /

[Question ID = 10962]

1. 1 [Option ID = 13842]
2. 2 [Option ID = 13843]
3. 3 [Option ID = 13844]
4. 4 [Option ID = 13845]

Correct Answer :­
4 [Option ID = 13845]

Select a suitable figure from the Answer Figures that would replace the question mark (?) /

[Question ID = 10963]

1. 1 [Option ID = 13846]
2. 2 [Option ID = 13847]
3. 3 [Option ID = 13848]
4. 4 [Option ID = 13849]
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46)  

47)  

48)  

Correct Answer :­
2 [Option ID = 13847]

Select a suitable figure from the Answer Figures that would replace the question mark (?) /

[Question ID = 10964]

1. 1 [Option ID = 13850]
2. 2 [Option ID = 13851]
3. 3 [Option ID = 13852]
4. 4 [Option ID = 13853]

Correct Answer :­
2 [Option ID = 13851]

Select the figure from the given Figures that would not fit in the group /

[Question ID = 10965]

1. a [Option ID = 13854]
2. b [Option ID = 13855]
3. c [Option ID = 13856]
4. e [Option ID = 13857]

Correct Answer :­
c [Option ID = 13856]

Select the figure from the given Figures that would not fit in the group /
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49)  

50)  

51)  

[Question ID = 10966]

1. a [Option ID = 13858]
2. b [Option ID = 13859]
3. c [Option ID = 13860]
4. d [Option ID = 13861]

Correct Answer :­
c [Option ID = 13860]

Select the figure from the given Figures that would not fit in the group /

[Question ID = 10967]

1. A [Option ID = 13862]
2. E [Option ID = 13863]
3. C [Option ID = 13864]
4. D [Option ID = 13865]

Correct Answer :­
D [Option ID = 13865]

Select the figure from the given Figures that would not fit in the group /

[Question ID = 10968]

1. E [Option ID = 13866]
2. D [Option ID = 13867]
3. C [Option ID = 13868]
4. B [Option ID = 13869]

Correct Answer :­
C [Option ID = 13868]

Two statements are given followed by two conclusions. You are required to find which
conclusion follows based on the given statements and select best option.
Statements:  1. All bags are cakes
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52)  

                         2.  All lamps are cakes
Conclusions        A. Some lamps are bags.
                              B. No lamp is bag 

[Question ID = 10969]

1. Only conclusion A follows /  [Option ID = 13870]

2. Only conclusion B follows /  [Option ID = 13871]

3. Both conclusions A and B follow /  [Option ID = 13872]

4. Neither conclusion A nor B follows /  [Option ID = 13873]

Correct Answer :­

Neither conclusion A nor B follows /  [Option ID = 13873]

Two statements are given followed by two conclusions. You are required to find which
conclusion follows based on the given statements and select best option.
Statements:  1. All doors are needles
                     2.  Some trees are doors
Conclusions        A. Some trees are needles.
                          B. Some trees are not needles.

[Question ID = 10970]

1. Only conclusion A follows /  [Option ID = 13874]

2. Only conclusion B follows /  [Option ID = 13875]

3. Both conclusions A and B follow /  [Option ID = 13876]

4. Neither conclusion A nor B follows /  [Option ID = 13877]
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53)  

54)  

Correct Answer :­

Only conclusion A follows /  [Option ID = 13874]

Two statements are given followed by two conclusions. You are required to find which
conclusion follows based on the given statements and select best option.
Statements:  1.  All planets are mugs.
                         2.  All mugs are buckets
Conclusions        A. All mugs are planets.
                              B. All planets are buckets.

[Question ID = 10971]

1. Only conclusion A follows /  [Option ID = 13878]

2. Only conclusion B follows /  [Option ID = 13879]

3. Both conclusions A and B follow /  [Option ID = 13880]

4. Neither conclusion A nor B follows /  [Option ID = 13881]

Correct Answer :­

Only conclusion B follows /  [Option ID = 13879]

Two statements are given followed by two conclusions. You are required to find which
conclusion follows based on the given statements and select best option.
Statements:  1. Some players are writers
                         2.  All writers are short
Conclusions        A. Some players are short.
                              B. All players are short.

[Question ID = 10972]
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55)  

56)  

1. Only conclusion A follows /  [Option ID = 13882]

2. Only conclusion B follows /  [Option ID = 13883]

3. Both conclusions A and B follow /  [Option ID = 13884]

4. Neither conclusion A nor B follows /  [Option ID = 13885]

Correct Answer :­

Only conclusion A follows /  [Option ID = 13882]

Two statements are given followed by two conclusions. You are required to find which
conclusion follows based on the given statements and select best option.
Statements:  1. No man is a donkey.
                         2.  Ramesh is a man.
Conclusions        A. Ramesh is not a donkey.
                              B. All men are not Ramesh.

[Question ID = 10973]

1. Only conclusion A follows /  [Option ID = 13886]

2. Only conclusion B follows /  [Option ID = 13887]

3. Both conclusions A and B follow /  [Option ID = 13888]

4. Neither conclusion A nor B follows /  [Option ID = 13889]

Correct Answer :­

Only conclusion A follows /  [Option ID = 13886]

find which conclusion follows based on the given statements and select best option.
Statements:  1. Some lawyers  are men
                         2.  No man is black
Conclusions        A. Some lawyers are not black.
                              B. Some men are lawyers.
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57)  

[Question ID = 10974]

1. Only conclusion A follows /  [Option ID = 13890]

2. Only conclusion B follows /  [Option ID = 13891]

3. Both conclusions A and B follow /  [Option ID = 13892]

4. Neither conclusion A nor B follows /  [Option ID = 13893]

Correct Answer :­

Only conclusion A follows /  [Option ID = 13890]

Two statements are given followed by two conclusions. You are required to find which
conclusion follows based on the given statements and select best option.
Statements:  1. Some flies are ants
                         2.  All insects are ants
Conclusions        A. All flies are ants.
                              B. Some ants are insects.

[Question ID = 10975]

1. Only conclusion A follows /  [Option ID = 13894]

2. Only conclusion B follows /  [Option ID = 13895]

3. Both conclusions A and B follow /  [Option ID = 13896]

4. Neither conclusion A nor B follows /  [Option ID = 13897]

Correct Answer :­

Neither conclusion A nor B follows /  [Option ID = 13897]
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58)  

59)  

Two statements are given followed by two conclusions. You are required to find which
conclusion follows based on the given statements and select best option.
Statements:  1. All shirts are poles
                         2.  No pole is door.
Conclusions        A. Some shirts are doors.
                              B. Some doors are poles.

[Question ID = 10976]

1. Only conclusion A follows /  [Option ID = 13898]

2. Only conclusion B follows /  [Option ID = 13899]

3. Both conclusions A and B follow /  [Option ID = 13900]

4. Neither conclusion A nor B follows /  [Option ID = 13901]

Correct Answer :­

Neither conclusion A nor B follows /  [Option ID = 13901]

A statement is given followed by two Arguments.  You are required to choose suitable option.
Statement:  Should cutting of trees be banned?
Arguments        A. Yes, it is necessary to restore ecological balance.
                            B. No, the ban would affect timber based industries.

[Question ID = 10977]

1. Only Argument A is strong /  [Option ID = 13902]

2. Only Argument B is strong /  [Option ID = 13903]

3. Both Argument A and B are strong /  [Option ID = 13904]

4. Neither Argument A nor B is strong /  [Option ID = 13905]
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60)  

61)  

Correct Answer :­

Both Argument A and B are strong /  [Option ID = 13904]

A statement is given followed by two Arguments.  You are required to choose suitable option.
Statement:  Should Steam engines be replaced by electric engines in Indian railways?
Arguments        A. No, in India power production is insufficient.
                            B. Yes, Steam engines cause pollution.

[Question ID = 10978]

1. Only Argument A is strong /  [Option ID = 13906]

2. Only Argument B is strong /  [Option ID = 13907]

3. Both Argument A and B are strong /  [Option ID = 13908]

4. Neither Argument A nor B is strong /  [Option ID = 13909]

Correct Answer :­

Only Argument B is strong /  [Option ID = 13907]

A statement is given followed by two Arguments.  You are required to choose suitable option.
Statement:  Should India have no defense forces at all?
Arguments        A. No, other countries don’t follow non violence.
                            B. Yes, many Indians believe and follow non violence

[Question ID = 10979]

1. Only Argument A is strong /  [Option ID = 13910]

2. Only Argument B is strong /  [Option ID = 13911]

3. Both Argument A and B are strong /  [Option ID = 13912]

4. Neither Argument A nor B is strong /  [Option ID = 13913]

Correct Answer :­
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62)  

63)  

Only Argument A is strong /  [Option ID = 13910]

A statement is given followed by two Arguments.  You are required to choose suitable option.
Statement:  Should the grooms accepting dowry to be punished, though there is a law prohibiting
dowry?
Arguments        A. No, since time immemorial the system persists.
                            B. Yes, must be punished for violation of law.

[Question ID = 10980]

1. Only Argument A is strong /  [Option ID = 13914]

2. Only Argument B is strong /  [Option ID = 13915]

3. Both Argument A and B are strong /  [Option ID = 13916]

4. Neither Argument A nor B is strong /  [Option ID = 13917]

Correct Answer :­

Only Argument B is strong /  [Option ID = 13915]

A statement is given followed by two Arguments.  You are required to choose suitable option.
Statement:  Should education in India be made compulsory for all children? 
Arguments        A. Yes, it would immediately increase the standard of living.
                            B. Yes, it would reduce child labor.

[Question ID = 10981]

1. Only Argument A is strong /  [Option ID = 13918]

2. Only Argument B is strong /  [Option ID = 13919]

3. Both Argument A and B are strong /  [Option ID = 13920]

4. Neither Argument A nor B is strong /  [Option ID = 13921]

Correct Answer :­
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64)  

65)  

Neither Argument A nor B is strong /  [Option ID = 13921]

A statement is given followed by two Arguments.  You are required to choose suitable option.
Statement:  Should high chimneys be installed in industries? 
Arguments        A. Yes, ground level pollution is reduced.
                            B. No, it  increases cost to the Industries.

[Question ID = 10982]

1. Only Argument A is strong /  [Option ID = 13922]

2. Only Argument B is strong /  [Option ID = 13923]

3. Both Argument A and B are strong /  [Option ID = 13924]

4. Neither Argument A nor B is strong /  [Option ID = 13925]

Correct Answer :­

Only Argument A is strong /  [Option ID = 13922]

A statement is given followed by two conclusions. You are required to find which conclusion
follows based on the given statements and select best option.
Statements:  A survey revealed that, who undertake physical exercise for at least 30 minutes a day
are less prone to heart problems.
Conclusions        A. Moderate level of physical exercise is needed for healthy life of any person.
                              B. All persons who do office desk jobs suffer from heart problems.

[Question ID = 10983]

1. Only conclusion A follows /  [Option ID = 13926]

2. Only conclusion B follows /  [Option ID = 13927]

3. Both conclusions A and B follow /  [Option ID = 13928]
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66)  

67)  

4. Neither conclusion A nor B follows /  [Option ID = 13929]

Correct Answer :­

Only conclusion A follows /  [Option ID = 13926]

A statement is given followed by two conclusions. You are required to find which conclusion
follows based on the given statements and select best option 
Statements:  This world is neither good nor bad.  Each person manufactures a world for him/her
self.
Conclusions        A.  Some persons find this world quite good.
                              B. Some persons find this world quite bad.

[Question ID = 10984]

1. Only conclusion A follows /  [Option ID = 13930]

2. Only conclusion B follows /  [Option ID = 13931]

3. Both conclusions A and B follow /  [Option ID = 13932]

4. Neither conclusion A nor B follows /  [Option ID = 13933]

Correct Answer :­

Both conclusions A and B follow /  [Option ID = 13932]

A statement is given followed by two conclusions. You are required to find which conclusion
follows based on the given statements and select best option .
Statements:  Money plays an important and vital role in Indian Politics.
Conclusions        A. The poor can't become politicians.
                              B. All the rich persons join in Politics

[Question ID = 10985]
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68)  

69)  

1. Only conclusion A follows /  [Option ID = 13934]

2. Only conclusion B follows /  [Option ID = 13935]

3. Both conclusions A and B follow /  [Option ID = 13936]

4. Neither conclusion A nor B follows /  [Option ID = 13937]

Correct Answer :­

Neither conclusion A nor B follows /  [Option ID = 13937]

A statement is given below followed by two courses of actions. You are required to find which
course of action should follow in the statement and select best option.
Statement:  The librarian finds some pages torn in the books issued. 
Course of Action:         A. Strict measures should be taken against the student, who resorts to tear
the pages of book issued to him.
                            B. Some additional funds be collected from all the students to replenish the torn
books.

[Question ID = 10986]

1. Only Course of Action A follows /  [Option ID = 13938]

2. Only Course of Action B follows /  [Option ID = 13939]

3. Both Course of Actions A and B follow /  [Option ID = 13940]

4. Neither Course of Action A nor B follows /  [Option ID = 13941]

Correct Answer :­

Only Course of Action A follows /  [Option ID = 13938]

A statement is given below followed by two Assumptions. You are required to find which
assumption is implicit in the statement and select best option.
Statements:  The firm must settle all the payments due to its suppliers within four working days.
Assumptions        A. The firm should maintain sufficient funds to pay to the suppliers.
                              B. The firm is capable of processing the bills in four working days
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70)  

71)  

[Question ID = 10987]

1. Only Assumption A is implicit /  [Option ID = 13942]

2. Only Assumption B is implicit /  [Option ID = 13943]

3. Both Assumptions A and B are implicit /  [Option ID = 13944]

4. Neither Assumption A nor B is implicit. /  [Option ID = 13945]

Correct Answer :­

Both Assumptions A and B are implicit /  [Option ID = 13944]

A statement is given below followed by two Assumptions. You are required to find which
assumption is implicit in the statement and select best option.
Statements:  All the workers are hereby instructed to reach the factory by 8.00 am, sharp
Assumptions      A. Some of the workers are not reaching by 8.00 am
                              B. Some of the workers are punctual. 

[Question ID = 10988]

1. Only Assumption A is implicit /  [Option ID = 13946]

2. Only Assumption B is implicit /  [Option ID = 13947]

3. Both Assumptions A and B are implicit /  [Option ID = 13948]

4. Neither Assumption A nor B is implicit. /  [Option ID = 13949]

Correct Answer :­

Only Assumption A is implicit /  [Option ID = 13946]

Read the paragraph given below and answer the questions

Courage is not only the basis of virtue; it is its expression. Faith, hope, charity and all the rest don't
become virtues until it takes courage to exercise them. There are roughly two types of courages.
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 The first an emotional state which urges a man to risk injury or death, is physical courage.The
second, more reasoning attitude which enables him to take coolly his career, happiness, his whole
future or his judgement of what he thinks either right or worthwhile, is moral courage.  I have
known many men, who had marked  physical courage, but lacked moral courage. Some of them
were in high places, but they failed to be great in themselves because they  lacked moral courage.
On the other hand I have seen men who undoubtedly possessed moral courage but were very
cautious about taking physical risks. But I have never met a man with moral courage who couldn't,
when it was really necessary, face a situation boldly.

All virtues become meaningful because of /

[Question ID = 11091]

1. faith /  [Option ID = 14358]

2. charity /  [Option ID = 14359]

3. courage /  [Option ID = 14360]

4. hope /  [Option ID = 14361]

Correct Answer :­

courage /  [Option ID = 14360]

Read the paragraph given below and answer the questions

Courage is not only the basis of virtue; it is its expression. Faith, hope, charity and all the rest don't
become virtues until it takes courage to exercise them. There are roughly two types of courages.
 The first an emotional state which urges a man to risk injury or death, is physical courage.  The
second, more reasoning attitude which enables him to take coolly his career, happiness, his whole
future or his judgement of what he thinks either right or worthwhile, is moral courage.  I have
known many men, who had marked  physical courage, but lacked moral courage. Some of them
were in high places, but they failed to be great in themselves because they  lacked moral courage.
On the other hand I have seen men who undoubtedly possessed moral courage but were very
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cautious about taking physical risks. But I have never met a man with moral courage who couldn't,
when it was really necessary, face a situation boldly.

People with physical courage urges a man to risk/

 

[Question ID = 11072]

1. mental balance /  [Option ID = 14282]

2. Death or injury /  [Option ID = 14283]

3. stability /  [Option ID = 14284]

4. Safe /  [Option ID = 14285]

Correct Answer :­

Death or injury /  [Option ID = 14283]

Read the paragraph given below and answer the questions

Courage is not only the basis of virtue; it is its expression. Faith, hope, charity and all the rest don't
become virtues until it takes courage to exercise them. There are roughly two types of courages.
 The first an emotional state which urges a man to risk injury or death, is physical courage.  The
second, more reasoning attitude which enables him to take coolly his career, happiness, his whole
future or his judgement of what he thinks either right or worthwhile, is moral courage.  I have
known many men, who had marked  physical courage, but lacked moral courage. Some of them
were in high places, but they failed to be great in themselves because they  lacked moral courage.
On the other hand I have seen men who undoubtedly possessed moral courage but were very
cautious about taking physical risks. But I have never met a man with moral courage who couldn't,
when it was really necessary, face a situation boldly.

A man with moral courage can /
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[Question ID = 11073]

1. defy his enemies /  [Option ID = 14286]

2. overcome all difficulties /  [Option ID = 14287]

3. face a situation boldly /  [Option ID = 14288]

4. be very pragmatic /  [Option ID = 14289]

Correct Answer :­

face a situation boldly /  [Option ID = 14288]

Read the paragraph given below and answer the questions

Courage is not only the basis of virtue; it is its expression. Faith, hope, charity and all the rest don't
become virtues until it takes courage to exercise them. There are roughly two types of courages.
 The first an emotional state which urges a man to risk injury or death, is physical courage.  The
second, more reasoning attitude which enables him to take coolly his career, happiness, his whole
future or his judgement of what he thinks either right or worthwhile, is moral courage.  I have
known many men, who had marked  physical courage, but lacked moral courage. Some of them
were in high places, but they failed to be great in themselves because they  lacked moral courage.
On the other hand I have seen men who undoubtedly possessed moral courage but were very
cautious about taking physical risks. But I have never met a man with moral courage who couldn't,
when it was really necessary, face a situation boldly.

Physical courage is an expression of / 
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[Question ID = 11074]

1. emotions /  [Option ID = 14290]

2. deliberation /  [Option ID = 14291]

3. uncertainty /  [Option ID = 14292]

4. defiance /  [Option ID = 14293]

Correct Answer :­

emotions /  [Option ID = 14290]

Read the paragraph given below and answer the questions

Courage is not only the basis of virtue; it is its expression. Faith, hope, charity and all the rest don't
become virtues until it takes courage to exercise them. There are roughly two types of courages.
 The first an emotional state which urges a man to risk injury or death, is physical courage.  The
second, more reasoning attitude which enables him to take coolly his career, happiness, his whole
future or his judgement of what he thinks either right or worthwhile, is moral courage.  I have
known many men, who had marked  physical courage, but lacked moral courage. Some of them
were in high places, but they failed to be great in themselves because they  lacked moral courage.
On the other hand I have seen men who undoubtedly possessed moral courage but were very
cautious about taking physical risks. But I have never met a man with moral courage who couldn't,
when it was really necessary, face a situation boldly.

Two types of courages are discussed, one is physical courage the other is /
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[Question ID = 11075]

1. Cunning courage /  [Option ID = 14294]

2. Intelligent courage /  [Option ID = 14295]

3. Moral courage /  [Option ID = 14296]

4. Hope courage /  [Option ID = 14297]

Correct Answer :­

Moral courage /  [Option ID = 14296]

Read the paragraph given below and answer the questions

Dr. Avul Pakir Jainulabdeen Abdul kalam, was born on 15th October 1931 at Rameswaram in Tamil
Nadu. He was responsible for the evolution of ISRO’s launch vehicle programme, particularly the
PSLV configuration and for the development and operationalization of AGNI and PRITHVI missiles
and for building indigenous capability in critical technologies through networking of multiple
institutions. In his literary pursuit, four of Dr. Kalam’s books ­ ‘Wings of Fires’, ‘India 2020 ­A vision
for the New Millennium’, ‘My Journey’ and ‘Ignited Minds – Unleashing the power within India’ have
become household names in India and among the Indian nationals abroad. Dr. Kalam received
honorary doctorates from 30 universities and institutions. He was awarded the coveted civilian
awards – Padma Bhushan (1981) and Padma Vibhushan (1990) and the highest civilian award
Bharat Ratna (1997). Dr. Kalam became the 11th President of India on 25th July 2002.  

Dr A P J Kalam was born at ……………. / 
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[Question ID = 11076]

1. Rameshwaram /  [Option ID = 14298]

2. Ramavaram /  [Option ID = 14299]

3. Bhadrachalam /  [Option ID = 14300]

4. Kanyakumari /  [Option ID = 14301]

Correct Answer :­

Rameshwaram /  [Option ID = 14298]

Read the paragraph given below and answer the questions

Dr. Avul Pakir Jainulabdeen Abdul kalam, was born on 15th October 1931 at Rameswaram in Tamil
Nadu. He was responsible for the evolution of ISRO’s launch vehicle programme, particularly the
PSLV configuration and for the development and operationalization of AGNI and PRITHVI missiles
and for building indigenous capability in critical technologies through networking of multiple
institutions. In his literary pursuit, four of Dr. Kalam’s books ­ ‘Wings of Fires’, ‘India 2020 ­A vision
for the New Millennium’, ‘My Journey’ and ‘Ignited Minds – Unleashing the power within India’ have
become household names in India and among the Indian nationals abroad. Dr. Kalam received
honorary doctorates from 30 universities and institutions. He was awarded the coveted civilian
awards – Padma Bhushan (1981) and Padma Vibhushan (1990) and the highest civilian award
Bharat Ratna (1997). Dr. Kalam became the 11th President of India on 25th July 2002.

Who was responsible for configuring  PSLV? / 
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[Question ID = 11077]

1. Rameshwaram /  [Option ID = 14302]

2. Rahul /  [Option ID = 14303]

3. Dr. A P J Kalam /  [Option ID = 14304]

4. Jalaluddin /  [Option ID = 14305]

Correct Answer :­

Dr. A P J Kalam /  [Option ID = 14304]

Read the paragraph given below and answer the questions

Dr. Avul Pakir Jainulabdeen Abdul kalam, was born on 15th October 1931 at Rameswaram in Tamil
Nadu. He was responsible for the evolution of ISRO’s launch vehicle programme, particularly the
PSLV configuration and for the development and operationalization of AGNI and PRITHVI missiles
and for building indigenous capability in critical technologies through networking of multiple
institutions. In his literary pursuit, four of Dr. Kalam’s books ­ ‘Wings of Fires’, ‘India 2020 ­A vision
for the New Millennium’, ‘My Journey’ and ‘Ignited Minds – Unleashing the power within India’ have
become household names in India and among the Indian nationals abroad. Dr. Kalam received
honorary doctorates from 30 universities and institutions. He was awarded the coveted civilian
awards – Padma Bhushan (1981) and Padma Vibhushan (1990) and the highest civilian award
Bharat Ratna (1997). Dr. Kalam became the 11th President of India on 25th July 2002.

Name the two missiles Kalam developed /
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[Question ID = 11078]

1. AGNI and EARTH /  [Option ID = 14306]

2. AGNI and PRITHVI /  [Option ID = 14307]

3. WINGS and FIRE /  [Option ID = 14308]

4. FIRE and PRITHVI /  [Option ID = 14309]

Correct Answer :­

AGNI and PRITHVI /  [Option ID = 14307]

Read the paragraph given below and answer the questions

Dr. Avul Pakir Jainulabdeen Abdul kalam, was born on 15th October 1931 at Rameswaram in Tamil
Nadu. He was responsible for the evolution of ISRO’s launch vehicle programme, particularly the
PSLV configuration and for the development and operationalization of AGNI and PRITHVI missiles
and for building indigenous capability in critical technologies through networking of multiple
institutions. In his literary pursuit, four of Dr. Kalam’s books ­ ‘Wings of Fires’, ‘India 2020 ­A vision
for the New Millennium’, ‘My Journey’ and ‘Ignited Minds – Unleashing the power within India’ have
become household names in India and among the Indian nationals abroad. Dr. Kalam received
honorary doctorates from 30 universities and institutions. He was awarded the coveted civilian
awards – Padma Bhushan (1981) and Padma Vibhushan (1990) and the highest civilian award
Bharat Ratna (1997). Dr. Kalam became the 11th President of India on 25th July 2002.

Name one of the books  written by Dr. Kalam? /
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[Question ID = 11079]

1. Wings along Fires /  [Option ID = 14310]

2. Wings of Fires /  [Option ID = 14311]

3. Wings and India Fires /  [Option ID = 14312]

4. Wings of Agni /  [Option ID = 14313]

Correct Answer :­

Wings of Fires /  [Option ID = 14311]

Read the paragraph given below and answer the questions

Dr. Avul Pakir Jainulabdeen Abdul kalam, was born on 15th October 1931 at Rameswaram in Tamil
Nadu. He was responsible for the evolution of ISRO’s launch vehicle programme, particularly the
PSLV configuration and for the development and operationalization of AGNI and PRITHVI missiles
and for building indigenous capability in critical technologies through networking of multiple
institutions. In his literary pursuit, four of Dr. Kalam’s books ­ ‘Wings of Fires’, ‘India 2020 ­A vision
for the New Millennium’, ‘My Journey’ and ‘Ignited Minds – Unleashing the power within India’ have
become household names in India and among the Indian nationals abroad. Dr. Kalam received
honorary doctorates from 30 universities and institutions. He was awarded the coveted civilian
awards – Padma Bhushan (1981) and Padma Vibhushan (1990) and the highest civilian award
Bharat Ratna (1997). Dr. Kalam became the 11th President of India on 25th July 2002.

When was Bharat Ratna awarded to Dr. Kalam? /
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[Question ID = 11080]

1. 1987 [Option ID = 14314]
2. 1977 [Option ID = 14315]
3. 1997 [Option ID = 14316]
4. 2007 [Option ID = 14317]

Correct Answer :­
1997 [Option ID = 14316]

Read the paragraph given below and answer the questions

The India Meteorological Department (IMD) has warned of a heat wave in the coming weeks.
According to forecasts, temperatures are likely to rise above 40 degrees Celsius in most parts of the
country and heat wave­like conditions are likely to develop in Gujarat, Odisha, Telangana and
Andhra Pradesh. Such extreme temperature events are becoming a norm in India and other sub­
tropical countries around the world. According to reports, climate change is likely to have caused
this increase in incidences and severity of heat waves. IMD estimates that average temperatures
between March and May in recent years, have increased by 1­1.2°C above the 100­year­average.
According to the Intergovernmental Panel on Climate Change (IPCC), as average temperatures
increase, outlier events like heat waves—defined by the IMD as an increase of 5°C above normal
temperatures—are likely to become more severe. This means that they will entail higher
temperatures and will last longer. In the past, heat waves have caused loss of life, increased
morbidity and productivity losses. According to estimates, more than 4,000 people have died due to
heat waves between 2013 and 2016 in India. Additionally, productivity losses worth US $450 billion
will be incurred due to extreme temperatures in India by 2030.

What is the warning given by IMD ? /
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[Question ID = 11081]

1. Heat wave /  [Option ID = 14318]

2. Hurricane /  [Option ID = 14319]

3. Cyclone /  [Option ID = 14320]

4. Earthquack /  [Option ID = 14321]

Correct Answer :­

Heat wave /  [Option ID = 14318]

Read the paragraph given below and answer the questions

The India Meteorological Department (IMD) has warned of a heat wave in the coming weeks.
According to forecasts, temperatures are likely to rise above 40 degrees Celsius in most parts of the
country and heat wave­like conditions are likely to develop in Gujarat, Odisha, Telangana and
Andhra Pradesh. Such extreme temperature events are becoming a norm in India and other sub­
tropical countries around the world. According to reports, climate change is likely to have caused
this increase in incidences and severity of heat waves. IMD estimates that average temperatures
between March and May in recent years, have increased by 1­1.2°C above the 100­year­average.
According to the Intergovernmental Panel on Climate Change (IPCC), as average temperatures
increase, outlier events like heat waves—defined by the IMD as an increase of 5°C above normal
temperatures—are likely to become more severe. This means that they will entail higher
temperatures and will last longer. In the past, heat waves have caused loss of life, increased
morbidity and productivity losses. According to estimates, more than 4,000 people have died due to
heat waves between 2013 and 2016 in India. Additionally, productivity losses worth US $450 billion
will be incurred due to extreme temperatures in India by 2030.

What is the warning given by IMD ? /
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83)  

[Question ID = 11082]

1. Gujarat /  [Option ID = 14322]

2. Telangana /  [Option ID = 14323]

3. Kerala /  [Option ID = 14324]

4. Andhra Pradesh /  [Option ID = 14325]

Correct Answer :­

Kerala /  [Option ID = 14324]

Read the paragraph given below and answer the questions

The India Meteorological Department (IMD) has warned of a heat wave in the coming weeks.
According to forecasts, temperatures are likely to rise above 40 degrees Celsius in most parts of the
country and heat wave­like conditions are likely to develop in Gujarat, Odisha, Telangana and
Andhra Pradesh. Such extreme temperature events are becoming a norm in India and other sub­
tropical countries around the world. According to reports, climate change is likely to have caused
this increase in incidences and severity of heat waves. IMD estimates that average temperatures
between March and May in recent years, have increased by 1­1.2°C above the 100­year­average.
According to the Intergovernmental Panel on Climate Change (IPCC), as average temperatures
increase, outlier events like heat waves—defined by the IMD as an increase of 5°C above normal
temperatures—are likely to become more severe. This means that they will entail higher
temperatures and will last longer. In the past, heat waves have caused loss of life, increased
morbidity and productivity losses. According to estimates, more than 4,000 people have died due to
heat waves between 2013 and 2016 in India. Additionally, productivity losses worth US $450 billion
will be incurred due to extreme temperatures in India by 2030.

Heat wave is defined as increase of  ____ above normal temperatures. /
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84)  

[Question ID = 11083]

1. 15°C [Option ID = 14326]
2. 5°C [Option ID = 14327]
3. 50°C [Option ID = 14328]
4. 1°C [Option ID = 14329]

Correct Answer :­
5°C [Option ID = 14327]

Read the paragraph given below and answer the questions

The India Meteorological Department (IMD) has warned of a heat wave in the coming weeks.
According to forecasts, temperatures are likely to rise above 40 degrees Celsius in most parts of the
country and heat wave­like conditions are likely to develop in Gujarat, Odisha, Telangana and
Andhra Pradesh. Such extreme temperature events are becoming a norm in India and other sub­
tropical countries around the world. According to reports, climate change is likely to have caused
this increase in incidences and severity of heat waves. IMD estimates that average temperatures
between March and May in recent years, have increased by 1­1.2°C above the 100­year­average.
According to the Intergovernmental Panel on Climate Change (IPCC), as average temperatures
increase, outlier events like heat waves—defined by the IMD as an increase of 5°C above normal
temperatures—are likely to become more severe. This means that they will entail higher
temperatures and will last longer. In the past, heat waves have caused loss of life, increased
morbidity and productivity losses. According to estimates, more than 4,000 people have died due to
heat waves between 2013 and 2016 in India. Additionally, productivity losses worth US $450 billion
will be incurred due to extreme temperatures in India by 2030.

What is the toll due to heat wave condition between 2013 and 2016 in India? /
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85)  

[Question ID = 11084]

1. 240 [Option ID = 14330]
2. 2400 [Option ID = 14331]
3. 400 [Option ID = 14332]
4. 4000 [Option ID = 14333]

Correct Answer :­
4000 [Option ID = 14333]

Read the paragraph given below and answer the questions

The India Meteorological Department (IMD) has warned of a heat wave in the coming weeks.
According to forecasts, temperatures are likely to rise above 40 degrees Celsius in most parts of the
country and heat wave­like conditions are likely to develop in Gujarat, Odisha, Telangana and
Andhra Pradesh. Such extreme temperature events are becoming a norm in India and other sub­
tropical countries around the world. According to reports, climate change is likely to have caused
this increase in incidences and severity of heat waves. IMD estimates that average temperatures
between March and May in recent years, have increased by 1­1.2°C above the 100­year­average.
According to the Intergovernmental Panel on Climate Change (IPCC), as average temperatures
increase, outlier events like heat waves—defined by the IMD as an increase of 5°C above normal
temperatures—are likely to become more severe. This means that they will entail higher
temperatures and will last longer. In the past, heat waves have caused loss of life, increased
morbidity and productivity losses. According to estimates, more than 4,000 people have died due to
heat waves between 2013 and 2016 in India. Additionally, productivity losses worth US $450 billion
will be incurred due to extreme temperatures in India by 2030.

Which of the following  is not a loss due to heat wave? / 
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86)  

[Question ID = 11085]

1. Increased morbidity /  [Option ID = 14334]

2. Productivty loss /  [Option ID = 14335]

3. Employment loss /  [Option ID = 14336]

4. Life loss /  [Option ID = 14337]

Correct Answer :­

Employment loss /  [Option ID = 14336]

Read the paragraph given below and answer the questions

We talk about democracy, but when it comes to any particular thing, we prefer a man belonging to
our caste and community.  It means our democracy is a phony kind of democracy.  We must be in a
position to respect a man as a man.   We must extend opportunities of development to those who
deserve them.  Our weakness of our own caste and community should not influence our decision.
 Caste and community should be out of society for democracy to cherish.  Any type of favour in
decisions leads to corruption and thereby the roots of democracy will loose its foundation.

Whom do we prefer, a man belonging to our_____? /
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87)  

[Question ID = 11086]

1. religion /  [Option ID = 14338]

2. Community and caste /  [Option ID = 14339]
3. country /  [Option ID = 14340]

4. villager /  [Option ID = 14341]

Correct Answer :­

Community and caste /  [Option ID = 14339]

Read the paragraph given below and answer the questions

We talk about democracy, but when it comes to any particular thing, we prefer a man belonging to
our caste and community.  It means our democracy is a phony kind of democracy.  We must be in a
position to respect a man as a man.   We must extend opportunities of development to those who
deserve them.  Our weakness of our own caste and community should not influence our decision.
 Caste and community should be out of society for democracy to cherish.  Any type of favour in
decisions leads to corruption and thereby the roots of democracy will loose its foundation.

Whom we must extend opportunities of development ? / 
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88)  

89)  

[Question ID = 11087]

1. to those who belong to our caste /  [Option ID = 14342]

2. to those who belong to our community /  [Option ID = 14343]

3. to those who deserve them /  [Option ID = 14344]

4. to those who are deprived /  [Option ID = 14345]

Correct Answer :­

to those who deserve them /  [Option ID = 14344]

Read the paragraph given below and answer the questions

We talk about democracy, but when it comes to any particular thing, we prefer a man belonging to
our caste and community.  It means our democracy is a phony kind of democracy.  We must be in a
position to respect a man as a man.   We must extend opportunities of development to those who
deserve them.  Our weakness of our own caste and community should not influence our decision.
 Caste and community should be out of society for democracy to cherish.  Any type of favour in
decisions leads to corruption and thereby the roots of democracy will loose its foundation.

Avoiding caste and community from society will ____. / 

[Question ID = 11088]

1. Not effect the democracy /  [Option ID = 14346]

2. Perish the democracy /  [Option ID = 14347]

3. Cherish the democracy /  [Option ID = 14348]

4. Be impossible /  [Option ID = 14349]

Correct Answer :­

Cherish the democracy /  [Option ID = 14348]

Read the paragraph given below and answer the questions
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90)  

We talk about democracy, but when it comes to any particular thing, we prefer a man belonging to
our caste and community.  It means our democracy is a phony kind of democracy.  We must be in a
position to respect a man as a man.   We must extend opportunities of development to those who
deserve them.  Our weakness of our own caste and community should not influence our decision.
 Caste and community should be out of society for democracy to cherish.  Any type of favour in
decisions leads to corruption and thereby the roots of democracy will loose its foundation.

Favour in decisions leads to ____ . / 

[Question ID = 11089]

1. Economic development /  [Option ID = 14350]

2. democracy /  [Option ID = 14351]

3. Increased corruption /  [Option ID = 14352]

4. Environment degradation /  [Option ID = 14353]

Correct Answer :­

Increased corruption /  [Option ID = 14352]

Read the paragraph given below and answer the questions

We talk about democracy, but when it comes to any particular thing, we prefer a man belonging to
our caste and community.  It means our democracy is a phony kind of democracy.  We must be in a
position to respect a man as a man.   We must extend opportunities of development to those who
deserve them.  Our weakness of our own caste and community should not influence our decision.
 Caste and community should be out of society for democracy to cherish.  Any type of favour in
decisions leads to corruption and thereby the roots of democracy will loose its foundation.

Our democracy is a _______ kind of democracy   /
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91)  

[Question ID = 11090]

1. mobile /  [Option ID = 14354]

2. phony /  [Option ID = 14355]
3. good /  [Option ID = 14356]

4. poor /  [Option ID = 14357]

Correct Answer :­

phony /  [Option ID = 14355]

Arrange the following sentences in suitable sequence to form a meaningful paragraph and
choose correct option
A. The mail is first collected from different letter boxes
B. The mail is delivered by the postman.
C. It is then sorted out at the sorting office.
D. From there it is sent to the concerned head post office.

[Question ID = 11009]

1. ACDB [Option ID = 14030]
2. BDAC [Option ID = 14031]
3. ABDC [Option ID = 14032]
4. BACD [Option ID = 14033]

Correct Answer :­
ACDB [Option ID = 14030]
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92)  

93)  

94)  

Arrange the following sentences in suitable sequence to form a meaningful paragraph and
choose correct option
A. Plastic bags are being used more and more to package soft drinks, milk, oil, fruit juices, etc.
B. Most people think that using plastic bags is economical.
C. Plastic bags are introduced in India.
D. They are not aware of the evils of the plastic.

[Question ID = 11010]

1. CDAB [Option ID = 14034]
2. CBDA [Option ID = 14035]
3. BCDA [Option ID = 14036]
4. CABD [Option ID = 14037]

Correct Answer :­
CABD [Option ID = 14037]

Arrange the following sentences in suitable sequence to form a meaningful paragraph and
choose correct option
A. There was a power interruption while viewing TV.
B. Sarita was lonely in the house.
C. She then started doing needle work.
D. She sat all  the day in TV room watching serials.

[Question ID = 11011]

1. DCAB [Option ID = 14038]
2. BDAC [Option ID = 14039]
3. BCDA [Option ID = 14040]
4. BACD [Option ID = 14041]

Correct Answer :­
BDAC [Option ID = 14039]
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95)  

Arrange the following sentences in suitable sequence to form a meaningful paragraph and choose
correct option
Arrange the following sentences in suitable sequence to form a meaningful paragraph and choose
correct option
A. Many districts form a state.
B. Many villages and towns form a Mandal.
C. Some Mandals form a district 
D. One of such states is our Telangana.

[Question ID = 11012]

1. ACDB [Option ID = 14042]
2. BDAC [Option ID = 14043]
3. BCAD [Option ID = 14044]
4. CBDA [Option ID = 14045]

Correct Answer :­
BCAD [Option ID = 14044]

Arrange the following sentences in suitable sequence to form a meaningful paragraph and
choose correct option
A. Common pain killers had been of no use.
B. Anjali was suffering from tooth problem.
C. Finally, in desperation, she went to a religious place for relief.
D. Since it was Sunday morning, no dentist was available.

[Question ID = 11013]

1. ACDB [Option ID = 14046]
2. BCDA [Option ID = 14047]
3. BCAD [Option ID = 14048]
4. BDAC [Option ID = 14049]

Correct Answer :­
BDAC [Option ID = 14049]
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96)  

97)  

Arrange the following sentences in suitable sequence to form a meaningful paragraph and
choose correct option
A. But, excess cholesterol causes heart problems
B. Cholesterol is produced by liver.
C. The human body also absorbs it from the (animal) fats one eats.
D. It is used to build cell walls and essential hormones.

[Question ID = 11014]

1. ADBC [Option ID = 14050]
2. BCDA [Option ID = 14051]
3. BCAD [Option ID = 14052]
4. BACD [Option ID = 14053]

Correct Answer :­
BCDA [Option ID = 14051]

Arrange the following sentences in suitable sequence to form a meaningful paragraph and
choose correct option 
A. Skill is the key in performance of any task
B. Skilled  person can be employed easily.
C. Hence Central and Telangana government is focusing on skill development.
D. It can be learned from a trainer.

[Question ID = 11015]

1. ACDB [Option ID = 14054]
2. DBCA [Option ID = 14055]
3. BCAD [Option ID = 14056]
4. ADBC [Option ID = 14057]

Correct Answer :­
ADBC [Option ID = 14057]
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98)  

99)  

Arrange the following sentences in suitable sequence to form a meaningful paragraph and
choose correct option
A. Two trains started from Ramagundam and Secunderabad
B. The signal problem is rectified before any fatal accident.
C. An alert was sent to all the trains involved about signal failure.
D. The signal system at Kazipet failed meanwhile

[Question ID = 11016]

1. ACDB [Option ID = 14058]
2. DABC [Option ID = 14059]
3. BCAD [Option ID = 14060]
4. ADCB [Option ID = 14061]

Correct Answer :­
ADCB [Option ID = 14061]

Arrange the following sentences in suitable sequence to form a meaningful paragraph and
choose correct option
A. That Bus started its journey
B. Mohan has attended the preventive repairs of the bus.
C. Finally, the Bus reached Ooty in two days.
D. There are 42 tourists inside the bus travelling to Ooty.

[Question ID = 11017]

1. DCAB [Option ID = 14062]
2. BADC [Option ID = 14063]
3. BCDA [Option ID = 14064]
4. ABCD [Option ID = 14065]

Correct Answer :­
BADC [Option ID = 14063]
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100)  

101)  

Arrange the following sentences in suitable sequence to form a meaningful paragraph and
choose correct option
A. Writing is introduced for storing information.
B. Computer technology is helping all the above tasks easily.
C. Printing helped to dissemination of knowledge.
D. The Speech is the first means of conveying information.

[Question ID = 11018]

1. ACDB [Option ID = 14066]
2. DABC [Option ID = 14067]
3. DACB [Option ID = 14068]
4. ADBC [Option ID = 14069]

Correct Answer :­
DACB [Option ID = 14068]

Arrange the following sentences in suitable sequence to form a meaningful paragraph and
choose correct option
A. It deals with surveying subject.
B. I will give a copy of it.
C. It is very  useful for diploma holders.
D. The book was published in Hyderabad

[Question ID = 11019]

1. DACB [Option ID = 14070]
2. DBCA [Option ID = 14071]
3. BADC [Option ID = 14072]
4. ABDC [Option ID = 14073]

Correct Answer :­
DACB [Option ID = 14070]



5/17/2017 103.13.99.97/gamechanger/Reports/PapersetQuestion/PapersetQuestions

http://103.13.99.97/gamechanger/Reports/PapersetQuestion/PapersetQuestions 55/72

102)  

103)  

104)  

Arrange the following sentences in suitable sequence to form a meaningful paragraph and
choose correct option
A. Regular exercise will benefit your heart.
B. A thirst during exercise is agreeable.
C. But beware of the warning signals from your body.
D. If you can combine this with music, then it is better.

[Question ID = 11020]

1. ADBC [Option ID = 14074]
2. ABDC [Option ID = 14075]
3. DBAC [Option ID = 14076]
4. CDAB [Option ID = 14077]

Correct Answer :­
ADBC [Option ID = 14074]

A. Follow the signal lights at the junction to cross the road.
B. If there are no signal lights at the crossing, look to the right, then to the left and again to the
right.
C. Pedestrians  should always cross the road at the zebra crossing.
D. Finally, don’t be in hurry to cross the road for safety.

[Question ID = 11021]

1. DCBA [Option ID = 14078]
2. DBCA [Option ID = 14079]
3. CABD [Option ID = 14080]
4. CDBA [Option ID = 14081]

Correct Answer :­
CABD [Option ID = 14080]
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105)  

Arrange the following sentences in suitable sequence to form a meaningful paragraph and choose
correct option
A. For this, he arranged a Truck.
B. He is surpised at the amount demanded by truck driver. 
C. He wants to take the paddy to the mill.
D. A farmer harvested his crop. 

[Question ID = 11022]

1. ADBC [Option ID = 14082]
2. ABDC [Option ID = 14083]
3. ABCD [Option ID = 14084]
4. DCAB [Option ID = 14085]

Correct Answer :­
DCAB [Option ID = 14085]

Arrange the following sentences in suitable sequence to form a meaningful paragraph and
choose correct option
A. Applying with demand draft.
B. Interview for the job.
C. Written test
D. Recruitment notification 

[Question ID = 11023]

1. ACBD [Option ID = 14086]
2. DACB [Option ID = 14087]
3. DCBA [Option ID = 14088]
4. DABC [Option ID = 14089]

Correct Answer :­
DACB [Option ID = 14087]
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106)  

107)  

Arrange the following sentences in suitable sequence to form a meaningful paragraph and
choose correct option
A. The house is locked
B. It is midnight in winter season, when thief saw a locked house.
C. The thief broke open the lock
D. The house owner identified a theft of ornaments next morning /

[Question ID = 11024]

1. DCAB [Option ID = 14090]
2. DACB [Option ID = 14091]
3. BCDA [Option ID = 14092]
4. ABCD [Option ID = 14093]

Correct Answer :­
ABCD [Option ID = 14093]

Arrange the following sentences in suitable sequence to form a meaningful paragraph and
choose correct option
A. He immediately acknowledged Mohan's good work and invited him to his home for dinner.
B. One day a wealthy merchant sent his son's bicycle to the shop for repair.
C. The next day the merchant came to claim the bicycle and noticed that it was shiny.
D. After repairing the bicycle, Mohan cleaned it up and made it look new.
E. Once upon a time, there was a boy named Mohan who worked as an apprentice in a bicycle shop.
/

[Question ID = 11025]

1. EDBCA [Option ID = 14094]
2. EDCBA [Option ID = 14095]
3. EBDCA [Option ID = 14096]
4. EBDAC [Option ID = 14097]

Correct Answer :­



5/17/2017 103.13.99.97/gamechanger/Reports/PapersetQuestion/PapersetQuestions

http://103.13.99.97/gamechanger/Reports/PapersetQuestion/PapersetQuestions 58/72

108)  

109)  

EBDCA [Option ID = 14096]

Arrange the following sentences in suitable sequence to form a meaningful paragraph and
choose correct option
A. To unearth black money, higher denomination notes banned.
B. ATMs are recalibrated 
C. Restrictions on cash transactions imposed finally.
D. New notes have been introduced within a month / 

[Question ID = 11026]

1. ABDC [Option ID = 14098]
2. ADBC [Option ID = 14099]
3. CADB [Option ID = 14100]
4. CABD [Option ID = 14101]

Correct Answer :­
ADBC [Option ID = 14099]

Arrange the following sentences in suitable sequence to form a meaningful paragraph and
choose correct option
A.  Write on it
B. Post in letter box
C. Purchase suitable post card or letter.
D. Go to Post office /

 

[Question ID = 11027]

1. BADC [Option ID = 14102]
2. DCAB [Option ID = 14103]
3. CBDA [Option ID = 14104]
4. ABDC [Option ID = 14105]
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110)  

111)  

112)  

Correct Answer :­
DCAB [Option ID = 14103]

Arrange the following sentences in suitable sequence to form a meaningful paragraph and
choose correct option
A. Dr. Reddy attended to the wounded Mr. P.
B. Mr. P was taken to hospital in ambulance.
C. His brother immediately called an ambulance.
D. Mr. P was met with a road accident.  / 

[Question ID = 11028]

1. DCBA [Option ID = 14106]
2. CABD [Option ID = 14107]
3. CDAB [Option ID = 14108]
4. CBDA [Option ID = 14109]

Correct Answer :­
DCBA [Option ID = 14106]

If 70% of 4/5 of a number Is 42, then the number is /

[Question ID = 11029]

1. 75 [Option ID = 14110]
2. 100 [Option ID = 14111]
3. 90 [Option ID = 14112]
4. 120 [Option ID = 14113]

Correct Answer :­
75 [Option ID = 14110]

What is the sum of all numbers divisible by 6 between 100 and 200? /

[Question ID = 11030]

1. 2600 [Option ID = 14114]
2. 5100 [Option ID = 14115]
3. 2550 [Option ID = 14116]
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113)  

114)  

115)  

116)  

4. 2850 [Option ID = 14117]

Correct Answer :­
2550 [Option ID = 14116]

The sum of two numbers is 13 and their product is 40. What is difference of these two
numbers? /

[Question ID = 11031]

1. 3 [Option ID = 14118]
2. 4 [Option ID = 14119]
3. 2 [Option ID = 14120]
4. 5 [Option ID = 14121]

Correct Answer :­
3 [Option ID = 14118]

The LCM of two numbers is 84. If these numbers are in 3:4 ratio, find the sum of these
numbers /

[Question ID = 11032]

1. 49 [Option ID = 14122]
2. 46 [Option ID = 14123]
3. 50 [Option ID = 14124]
4. 48 [Option ID = 14125]

Correct Answer :­
49 [Option ID = 14122]

The two numbers are in the ratio of 9:13. If their HCF is 7 find the numbers. /

[Question ID = 11033]

1. 45, 65 [Option ID = 14126]
2. 59, 63 [Option ID = 14127]
3. 63, 91 [Option ID = 14128]
4. 72, 104 [Option ID = 14129]

Correct Answer :­
63, 91 [Option ID = 14128]

If the product of two numbers is 1014 and their HCF is 13 find LCM of those two numbers /
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117)  

118)  

119)  

[Question ID = 11034]

1. 78 [Option ID = 14130]
2. 1001 [Option ID = 14131]
3. 26 [Option ID = 14132]
4. 39 [Option ID = 14133]

Correct Answer :­
78 [Option ID = 14130]

Find the value of 246.73 + 5.432 +62.1 /

[Question ID = 11035]

1. 314.262 [Option ID = 14134]
2. 307.264 [Option ID = 14135]
3. 315.262 [Option ID = 14136]
4. 316.264 [Option ID = 14137]

Correct Answer :­
314.262 [Option ID = 14134]

Find the value of ‘x’ in the in the equation 12.56 x 0.01 = x /

[Question ID = 11036]

1. 1.256 [Option ID = 14138]
2. 125.6 [Option ID = 14139]
3. 0.1256 [Option ID = 14140]
4. 0.01256 [Option ID = 14141]

Correct Answer :­
0.1256 [Option ID = 14140]

Which of the following is the biggest? 4/5, 7/8, 10/13, 9/11, 2/3 /

[Question ID = 11037]

1. 4/5 [Option ID = 14142]
2. 7/8 [Option ID = 14143]
3. 10/13 [Option ID = 14144]
4. 9/11 [Option ID = 14145]

Correct Answer :­
7/8 [Option ID = 14143]
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120)  

121)  

122)  

123)  

If 24 carrot gold is called pure gold, what is percentage of gold available in an ornament of 21
carrot? /

[Question ID = 11038]

1. 87.50 [Option ID = 14146]
2. 91.67 [Option ID = 14147]
3. 90.25 [Option ID = 14148]
4. 95.67 [Option ID = 14149]

Correct Answer :­
87.50 [Option ID = 14146]

If 30% of a number is 14 less than 50% of that number, then the number is /

[Question ID = 11039]

1. 44 [Option ID = 14150]
2. 60 [Option ID = 14151]
3. 80 [Option ID = 14152]
4. 70 [Option ID = 14153]

Correct Answer :­
70 [Option ID = 14153]

A car is insured for 90% of its original value. If the premium amounts to Rs.5,625/­ at 2.5%
of the insured value, what is the original value of the car? /

[Question ID = 11040]

1. Rs. 2,25,000/­ /   [Option ID = 14154]

2. Rs. 2,75,000/­ /   [Option ID = 14155]

3. Rs.3,00,000/­ /   [Option ID = 14156]

4. Rs.2,50,000/­ /   [Option ID = 14157]

Correct Answer :­

Rs.2,50,000/­ /   [Option ID = 14157]

A cricketer scored an average of 37 runs in his 137 innings. By playing an extra innings he
improved his average to 38 and got out. How many runs he scored in his last innings? /
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124)  

125)  

126)  

[Question ID = 11041]

1. 137 [Option ID = 14158]
2. 142 [Option ID = 14159]
3. 157 [Option ID = 14160]
4. 175 [Option ID = 14161]

Correct Answer :­
175 [Option ID = 14161]

The average marks in Intermediate examination of 16 (Sixteen) IIT batch students is 98 and
24 (Twenty Four) EAMCET batch students is 89. What is the average of total students? /

[Question ID = 11042]

1. 93.5 [Option ID = 14162]
2. 96 [Option ID = 14163]
3. 94.4 [Option ID = 14164]
4. 92.6 [Option ID = 14165]

Correct Answer :­
92.6 [Option ID = 14165]

Raju scored an average of 56 marks in quarterly examinations. Had he got 100 marks in
Maths subject instead of 76 marks he would have got an average of 59 marks. How many subjects
were there in the examination of 100 marks each? /

[Question ID = 11043]

1. 4 [Option ID = 14166]
2. 6 [Option ID = 14167]
3. 10 [Option ID = 14168]
4. 8 [Option ID = 14169]

Correct Answer :­
8 [Option ID = 14169]

If a:b = 3:7 and b:c = 4:7, then a:c = ? /
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127)  

128)  

129)  

[Question ID = 11044]

1. 12:49 [Option ID = 14170]
2. 28 : 21 [Option ID = 14171]
3. 21:28 [Option ID = 14172]
4. 49:12 [Option ID = 14173]

Correct Answer :­
12:49 [Option ID = 14170]

Two numbers are in the ratio of 2:3. If 6 is added to both the numbers, the ratio changes to
3:4. Find the lowest of the two. /

[Question ID = 11045]

1. 18 [Option ID = 14174]
2. 12 [Option ID = 14175]
3. 24 [Option ID = 14176]
4. 16 [Option ID = 14177]

Correct Answer :­
12 [Option ID = 14175]

The prices of a Refrigerator and Air­conditioner are in the ratio of 5:8. If the Air­conditioner
costs Rs 15000/­ more than the Refrigerator, then the price of the Refrigerator is /

[Question ID = 11046]

1. Rs.25,000/­ /   [Option ID = 14178]

2. Rs.40,000/­ /   [Option ID = 14179]

3. Rs.30,000/­ /   [Option ID = 14180]

4. Rs.35,000/­ /   [Option ID = 14181]

Correct Answer :­

Rs.25,000/­ /   [Option ID = 14178]

Ravi purchased an old T.V. for Rs. 6200/­ and incurs Rs. 800/­ for its repairs. If he sells the
T.V. for Rs. 8,050/­, then what is his gain percent in the transaction? /

[Question ID = 11047]
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130)  

131)  

132)  

1. 1.5 [Option ID = 14182]
2. 15 [Option ID = 14183]
3. 25 [Option ID = 14184]
4. 10 [Option ID = 14185]

Correct Answer :­
15 [Option ID = 14183]

By selling an item for Rs. 72.25 a trader sustains a loss of 15%. What should be the selling
price to gain 20% profit on the item? /

[Question ID = 11048]

1. Rs.100/­ /   [Option ID = 14186]

2. Rs.96/­ /   [Option ID = 14187]

3. Rs.98/­ /   [Option ID = 14188]

4. Rs.102/­ /   [Option ID = 14189]

Correct Answer :­

Rs.102/­ /   [Option ID = 14189]

A shopkeeper gains 15% by selling an item for a price. If he sells it at double the price, what
will be the percentage of profit he earns? /

[Question ID = 11049]

1. 130 [Option ID = 14190]
2. 30 [Option ID = 14191]
3. 120 [Option ID = 14192]
4. 100 [Option ID = 14193]

Correct Answer :­
130 [Option ID = 14190]

A, B and C are partners invested in a business in 2:3:4 ratio respectively. If B earnes Rs.
45,000/­ as his share of profit, what is the total profit earned by the partners? /

[Question ID = 11050]

1. Rs.1,50,000/­ /   [Option ID = 14194]
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133)  

134)  

135)  

2. Rs.1,35,000/­ /   [Option ID = 14195]

3. Rs.1,20,000/­ /   [Option ID = 14196]

4. Rs.1,60,000/­ /   [Option ID = 14197]

Correct Answer :­

Rs.1,35,000/­ /   [Option ID = 14195]

A,B and C are partners. A invests half of B’s investment and B invests half of C’s investment.
If they got a profit of Rs. 2,45,000/­ , what is C’s share of profit? /

[Question ID = 11051]

1. Rs.35,000/­ /   [Option ID = 14198]

2. Rs.70,000/­ /   [Option ID = 14199]

3. Rs.1,05,000/­ /   [Option ID = 14200]

4. Rs.1,40,000/­ /   [Option ID = 14201]

Correct Answer :­

Rs.1,40,000/­ /   [Option ID = 14201]

P and Q are partners. P invests Rs. 24,000/­ for 8 months and Q invests his capital for 4
months. If Q claims 3/7th of the profit as his share, What was his capital? /

[Question ID = 11052]

1. Rs.1,44,000/­ /   [Option ID = 14202]

2. Rs.72,000/­ /   [Option ID = 14203]

3. Rs.78,000/­ /   [Option ID = 14204]

4. Rs.36,000/­ /   [Option ID = 14205]

Correct Answer :­

Rs.36,000/­ /   [Option ID = 14205]

The present ages of A and B are in the ratio 4:5 respectively. After six years from now, this
ratio will become 5:6. What is B’s present age in years? /
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136)  

137)  

138)  

[Question ID = 11053]

1. 24 [Option ID = 14206]
2. 30 [Option ID = 14207]
3. 36 [Option ID = 14208]
4. 32 [Option ID = 14209]

Correct Answer :­
30 [Option ID = 14207]

The sum of the present ages of a mother and her daughter is 48 years. Four years ago, the
mother’s age was four times of her daughter’s age. The daughter’s age after 4 years will be /

[Question ID = 11054]

1. 15 years /   [Option ID = 14210]

2. 14 years /   [Option ID = 14211]

3. 17 years /   [Option ID = 14212]

4. 16 years /   [Option ID = 14213]

Correct Answer :­

16 years /   [Option ID = 14213]

The difference between the ages of A and B is 14 years. 5 years ago B’s age was three times
of A’s age. After 5 years the age of B will be /

[Question ID = 11070]

1. 31 years /   [Option ID = 14274]
2. 30 years /   [Option ID = 14275]

3. 29 years /   [Option ID = 14276]

4. 32 years /   [Option ID = 14277]

Correct Answer :­

31 years /   [Option ID = 14274]

Raju can finish a work in 6 days and Kiran takes 6 days more than Raju to complete the same
work. In how many days these together will complete the work? /
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139)  

140)  

141)  

[Question ID = 11056]

1. 3 [Option ID = 14218]
2. 5 [Option ID = 14219]
3. 2 [Option ID = 14220]
4. 4 [Option ID = 14221]

Correct Answer :­
4 [Option ID = 14221]

A and B can do a work in 8 days, B and C can do the same work in 12 days and A and C can
complete it in 8 days. If A, B and C work together in how many days the work can be completed? /

[Question ID = 11057]

1. 6 [Option ID = 14222]
2. 3 [Option ID = 14223]
3. 4 [Option ID = 14224]
4. 8 [Option ID = 14225]

Correct Answer :­
6 [Option ID = 14222]

A pipe can fill a tank in 10 hours, a tap can empty the same tank in 12 hours. If these two are
kept open simultaneously, In how much time the tank can be filled? /

[Question ID = 11058]

1. 22 hours /   [Option ID = 14226]

2. 60 hours /   [Option ID = 14227]

3. 120 hours /   [Option ID = 14228]

4. 24 hours /   [Option ID = 14229]

Correct Answer :­

60 hours /   [Option ID = 14227]

An aeroplane travels from Hyderabad to Dubai in 3 hours 20 minutes. If its speed is 600
KM/hour, what is the distance between Hyderabad and Dubai? /



5/17/2017 103.13.99.97/gamechanger/Reports/PapersetQuestion/PapersetQuestions

http://103.13.99.97/gamechanger/Reports/PapersetQuestion/PapersetQuestions 69/72

142)  

143)  

144)  

[Question ID = 11059]

1. 1920 km [Option ID = 14230]
2. 2000 km [Option ID = 14231]
3. 2100 km [Option ID = 14232]
4. 2050 km [Option ID = 14233]

Correct Answer :­
2000 km [Option ID = 14231]

A train crosses a bridge in 14 seconds at 90 kmph. If the train length is 180 metres, what is
the length of the bridge? /

[Question ID = 11060]

1. 180 m [Option ID = 14234]
2. 190 m [Option ID = 14235]
3. 160 m [Option ID = 14236]
4. 170 m [Option ID = 14237]

Correct Answer :­
170 m [Option ID = 14237]

The speeds of two cyclists A and B, who are travelling between two villages is in the ratio of
3:4. If A takes 20 minutes more than B to reach the destination, what is the time taken by B? /

[Question ID = 11061]

1. 1 hour /   [Option ID = 14238]
2. 1 hour 30 mts /   [Option ID = 14239]

3. 2 hours /   [Option ID = 14240]
4. 1 hour 20 minutes /   [Option ID = 14241]

Correct Answer :­

1 hour /   [Option ID = 14238]

Prasad paid Rs. 2,400/­ to his bank towards interest for 3 years for a sum of loan obtained at
8% simple interest. How much loan was taken by him? /
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145)  

146)  

147)  

[Question ID = 11062]

1. Rs. 10,000/­ [Option ID = 14242]
2. Rs.12,000/­ [Option ID = 14243]
3. Rs.8,000/­ [Option ID = 14244]
4. Rs.14,000/­ [Option ID = 14245]

Correct Answer :­
Rs. 10,000/­ [Option ID = 14242]

If a sum of money doubles in 5 years at a simple Interest. In how many years it will become 4
times at the same interest rate? /

[Question ID = 11063]

1. 10 [Option ID = 14246]
2. 15 [Option ID = 14247]
3. 20 [Option ID = 14248]
4. 12 [Option ID = 14249]

Correct Answer :­
15 [Option ID = 14247]

Find the compound interest on Rs. 5,000/­ in one year at 6% per annum if the interest is
compounded half yearly. /

[Question ID = 11064]

1. Rs. 305  [Option ID = 14250]

2. Rs.304.50 /  [Option ID = 14251]

3. Rs.310 /  [Option ID = 14252]

4. Rs.303 /  [Option ID = 14253]

Correct Answer :­

Rs.304.50 /  [Option ID = 14251]

What is the angle (in degrees) between hours hand and minutes hand when the clock shows
5.20 pm /
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148)  

149)  

150)  

[Question ID = 11065]

1. 30 [Option ID = 14254]
2. 40 [Option ID = 14255]
3. 20 [Option ID = 14256]
4. 25 [Option ID = 14257]

Correct Answer :­
40 [Option ID = 14255]

At what time between 7 and 8’O clock will the hands of a clock be in the same straight line in
opposite direction? /

[Question ID = 11066]

1. 5 min past 7 /   [Option ID = 14258]

2. 5 2/11 minutes past 7 /   [Option ID = 14259]

3. 5 5/11 minutes past 7 /   [Option ID = 14260]

4. 5 3/11 minutes past 7 /   [Option ID = 14261]

Correct Answer :­

5 5/11 minutes past 7 /   [Option ID = 14260]

Yashvardhan purchased a piece of square land measuring 324 sq.m. How much he needs to
incur to lay fencing around the plot at 120/­ per metre. /

[Question ID = 11067]

1. Rs. 8,640/­ /   [Option ID = 14262]

2. Rs.7,640/­ /   [Option ID = 14263]

3. Rs.8,260/­ /   [Option ID = 14264]

4. Rs.7,460/­ /   [Option ID = 14265]

Correct Answer :­

Rs. 8,640/­ /   [Option ID = 14262]

Find the surface area of brick whose length, breadth and height are 9 cm, 4 cm, 3 cm
respectively? /
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[Question ID = 11068]

1. 140 sq cm /   [Option ID = 14266]
2. 160 sq cm /   [Option ID = 14267]

3. 150 sq cm /   [Option ID = 14268]

4. 180 sq cm /   [Option ID = 14269]

Correct Answer :­

150 sq cm /   [Option ID = 14268]


